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(a) Work out of 200 

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________ 

Answer _________________________________________ 

Work out 23.7 − 2.5 × 8 

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________ 

Answer _________________________________________ 

(b) Work out 25.8 + 12.6 ÷ 2 

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________ 

Answer _________________________________________ 

Q2. 

Non-Calculator 

Q1. 

(Total 2 marks) 

(2) 

(2)
(Total 4 marks) 
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23 ÷ 

2.3 ×  = 23 

 = 0.23 
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Write a number in each box to make the calculation correct. 

How many sixths are in 1.5 ?
Circle your answer. 

4 6 9 15 

(a) Work out 0.6 × 0.1 

Answer _________________________________________ 

(a) Work out £5.81 + £3.09 

___________________________________________________________________

___________________________________________________________________ 

Answer £ ________________________________________ 

(b) Work out 0.5 − 0.18 

Answer _________________________________________ 

(b) Work out £2 − £1.36 

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________ 

Answer _________________________________________ 

Q3. 

Q4. 

Q5. 

Q6. 

(Total 1 mark) 

(Total 2 marks) 

(1) 

(1)
(Total 2 marks) 

(1) 

(2)
(Total 3 marks) 
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Circle the value of the digit 3 in the number 17.03 

Work out
Circle your answer. 

90 9 0.9 0.09 

Which of these numbers is 6 less than –1.4?

Circle your answer. 

–8.4 –7.4 –2.0 –4.6 

 
What is the value of 3 in the answer to
Circle your answer. 

13.78 ÷ 100? 

3 300 0.3 0.03 

Q7. 

Q9. 

Q10. 

Calculator 

Q8. 

(Total 1 mark) 

(Total 1 mark) 

(Total 1 mark) 

(Total 1 mark) 

AQA GCSE Maths - Basic Decimals (F) 


